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Part 1

Specification Review
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Specification Review

Stage 1000
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Specification Review
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4. Activity 1004. Record Terms in Glossary
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Specification Review

Stage 2030-2037
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Specification Review (Overall)
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Part 2

Brute Force Test
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Static Analysis

1 O M 2pH0) 22 E 23 (number)

2 g M9 3gM B2E 2= (malformed)

3 Database2| #Z ¥ 5% & F3(1,000,000,000,000,000) &, 900,000,000.000,000 3
4 Database®| #Zt ¥ 2% & E3(1,000,000,000,000,000) &, 900,000,000.000,000 &3
5 Xp2| XA E2uEE 2 o|H|

6 = AT o2 ATM 2 290| long int B 0|2

7TEEIHW TR, MAIE ¥ Database £F 05 2ol

8 2T REH M addeash M5 £ longint MR 0l&2 39 Y3

9 Deposit 3% B2 A| long int BT 0142 39 2y

10 Withdraw 9 22| A longint ¥ % 0|42 39 U

11 Transfer 2 23 Al long int 9 0|&0] 2 243

Success 6/11
Failed 511

Success
Success
Failed
Failed
Success
Success
Success
Failed
Failed
Failed
Failad

* long int &2l 0&2] int 20| S0{E FF 0f|2{7} ZYTICY.
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Brute Force Test (Result)

| #  ltestcases | Result | BAF _ Jtest |

O/ MEH SHOIM BRE L (nu
mber)

0| 77 A EH 20N
formed)

Database 2| AlZt ERAZ =7 (1,0
00,000,000,000,000) &, 900,000,000,
000,000 &=

Database 2| AlZt ERHZ £ (1,0
00,000,000,000,000) &, 900,000,000,
000,000 &=

Xt7| RpAOf|AH SHE =<4 OfA|
Hhe QIZ29 2 ATM ER 0] long in
t HY Ol

o203 =F TYA|E = Database
HE R ol

2| X 2EN A addcash ME Z, lo
ng int H¢| O|&2e = A=

H2HZ2E dH(mal

Deposit 2 &3 Al long int &
Q| O|ol 3% A
Withdraw &% &3 A| long int <
Ol ol 3 &
Transfer 24 &3 Al long int &2l
Ol ol 3o A

T

Success 6/11
=> 11/11

Success

Success

Failed

Failed

Success

Success

Success

Failed

Failed

Failed

Failed
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ol
% &2}

Ofl 2/ % 2|
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Ofl 2/ X 2|
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Success
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Success
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Success

Success



- )

(&%)

S
~

Brute Force Test (Result)

| # | Testcases [ Result |

HZ2E AZHHS (number) &

A2 E| A ZH S (malformed) S

SHHE Azt Yol 2RE 5N (< 0) €
=HE Atz YHHY2L, ERE 5N (malformed) EE
=HE AIt= Y8 =, SHE = ¥F

HRE AZHZ (humber) 23

ERE AZHZ (malformed) &

SHIE A3 9 3, FRE B LS (umben Y3
SHIE A5HS 9 3, BRE b LHB(malformed) Y3
SHIE AzpHset HANS A =, BRE FU(< 0) Y

Hs Q&

ZHIE AXHz et HEHD A 2 ZRE FU> AccountAm
ount) &=

2HIE AZtHz ot H 2D Y 5 HZE (> ATMamount
) 2™

SHIE AZtHzot H|PHZ 3 =
HRE E2F AZHZ (humber) Y
ERE &35 AXH S (malformed) ¥
ZHE &3 A% 98 =, 22E HE

H]

Z(number) &
2(

SHE 23 A& 28 =, 22E malformed) &=
ZHE =3 AlZe H| 2= 23 &, Z2E 235 AXH(number)
ol

H =

Success
Success
Success
Success
Success
Success
Success
Success
Success
Success
Success

Success

Success
Success
Success
Success
Success
Success
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Brute Force Test (Result)
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=
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HIE SHIE AZtdz 948 5 ZRE HYHS 9
HEE =HE AzHs g4y 2, SHE Y A
N 2R E 2|kt oto|c| ¢4
=HE Z2|X} OL0|C| & | E oL, HRE 22| X}; H[EH
“ number) & =
=2HHE #2|X} OIO|C|E U oLt HRE 22X HE
“ malformed) &=
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Static Analysis
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Static Analysis

JAVA_66 -

HE=-2 2H0]| M string concatenation assignment F4F2te] ALE 2|

for(i =0; i< len;
{

ivw)

iF((I[L]).substring(®, €)).equals(account))

I[i] = d.getAccounthus() +

¢ d.getPw()+” = + d.getBank()+"

“ & d.getName()+" “ « d.getBalance();

-

for(i =8; i< len; i++)

1

if{(1[i].substring(@, 6)).equals{account))
!

1[i]
1[41]
1[4]
1[41]
1[41]
1[41]
1[41]
1[4]
1[i]
1[4]

1[i].concat(d.getAccountMum());
v

1[i].concat(™

l[i].concat(d.geth(}};

1[i].concat(™

"

1[i].concat(d. getEank(}},

1[i].concat(™

1[i]. concat{d getMamE{}},

1[i].concat("

1[i].concat(d. getEalance{}},

String H{A~E2
concat2

|
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Static Analysis

JAVA_64 - YH=22 OHf| M string concatenation assignment @4ka12| A2 22|

for(i = @; i < len; it++)
if(i == len-1)

{
H

else
" {
B line 4= 1[i];
[1ine += "\r\n";]

- }
: }

~———

String H|2&~=2| 7|

if(i == len-1)

{
line = line.concat(1[i]);

}

else

{
line = line.concat(1[i]);
line = line.concat("\r\n");

concat2

=



Static Analysis

01 JAVA_66 - Z2420] Mo ALt AL B3]
{)2 481€ public static boolean calculate(User_Data d, int money)

@

int balance = Integer.parseInt(d.getBalance());

485 Iif((balance += money) < O)I

486 {
487 return false;

a 488 ¥

\ 4’ 489 else
191 d.setBalance(Integer.toString(balance));
492 return true; ’
193 b

int balance = Integer.porseInt(d.getBalance());
balance += money;
if(balance < @)

{ oI AR

return false;
1

else

i

d.setBalanceilntEger.taString{halanEe});
return true;

i



Static Analysis

Sun_26 - 23 9te| £4J0] MRt E8 32

if(amount.charAt(i) >= 48 && amount.charAt(i) <= 57)

if(amount <= 1000000 && amount > @)

if((amount.charAt(i) »= 48) && (amount.charAt(i) <= 57))

iF((

else

e
&
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o
ol

amount <= laaaesa) Z2& (amount > 8))
return true;

return false;
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Static Analysis

[pub:x: static void main(Stringl ] args) throws 10Exceptior ]
Remove this throws clause ML Re 18 D
® Code Smell @ Blocker pen WEEIX U/  15min effort N

FAOIE throwd = U= AT 5T /0|~ Ofct try - catch & AFEE A

public static wvoid transfer({fdmin admin)

{

String account = getdccount();
User_Data from

v null; Throw IOException L4l try catch

from = find({account); = Kj
} catch (IOException el) { :I'I'T'__ T |-

!/ Auto-generated catch block
el.printStackTrace();

¥
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Static Analysis

public static woid transfer(Admin admin)

i
String account = getdccount();
User_Data from = null;
try {
from = find{account);
} catch (IOException =1) {
// TODO Auto-generated catch block
el.printStackTrace();
}
if(from == null)
i
e = = System.out.println("cannot find the account!™);
Eﬂg if TL_% EE '?A-I-.. return;
}
String pw = getPw();
if(from.checkAccountPw(account, pw))
i
_ B String to_account = getTransferAccount();
m_tt_" this mcﬂ“_’d to reduce its if(to_account.equals(account))
Cognitive Complexity from 35 to the I
15 allowed. System.out.println( "7tz Fthle| H==s olHE = Sauch.");
& Code Smell & Critical [ +14 | return;

n m User_Data to = nullj;
[ 2 ] try {
to = Find(to_account);

} catch (IOException e) {
ff TODO Auto-generated catch block
e.printStackTrace();

1
if(toc == null)

m

i
System.out.println{"Wrong Account!™);
return;

}

= =Lt . int amount = getdmount();
if(amount < @)
i
.

ol
f
E

System.out.println("Z2I 3% LA");
return;

BERa

if(Integer.parseInt(from.getBalance()) < amcunt)

System.out.println("noct enocugh money™);
return;
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Part 4

Conclusion



Conclusion







Software Modeling

A NEW C.S.E. ATM

Thank you

201311299 | O|H<L
201311301 | O| X+
201311309 | ME&



